Solving Word Problems 

4-Step Method:

1.  Define variables

2.  Write the system of equations

3.  Solve using matrices
4.  State your solution in sentence form

1. You sell tickets for admission to your school play and collect a total of $104.  Admission prices are $6 for adults and $4 for children.  You sold 21 tickets.  How many adult tickets and how many children tickets did you sell?

2. Your family goes to a restaurant for dinner.  There are 6 people in your family.  Some order the chicken dinner for $14.80 and some order the steak dinner for $17.  If the total bill was $91, how many people ordered each type of dinner?

3. You bought the meat for Saturday’s cookout.  A package of hot dogs cost $1.60 and a package of hamburger cost $5.  You bought a total of 8 packages of meat and you spent $23.  How many packages of hamburger meat did you buy?

4. Casey orders 3 pizzas and 2 orders of breadsticks for a total of $29.50.  Rachel orders 2 pizzas and 3 orders of breadsticks for a total of $23.  How much does a pizza cost?

5. Rent-A-Car rents compact cars for a fixed amount per day plus a fixed amount for each mile driven.  Benito rented a car for 6 days, drove it 550 miles, and spent $337.  Lisa rented the same car for 3 days, drove it 350 miles, and spend $185.  What is the charge per day and the charge per mile for the compact car?

6. Beach Hotel in Cancun is offering two weekend specials.  One includes a 2-night stay with 3 meals and cost $195.  The other includes a 3-night stay with 5 meals and cost $300. What is the cost of a single meal?

Write a system of equations as an algebraic representation for the problem situations, and then solve the system using matrices and your graphing calculator.  You must show both your system and your answer, with appropriate description, to receive credit.

1. In a factory there are three machines A, B, and C.  When all three are running, they produce 222 suitcases per day.  If A and B work but C does not, they produce 159 suitcases per day.  If B and C work but A does not, they produce 147 suitcases per day.  What is the daily production of each machine?

2. The sum of three numbers is 57.  The second is 3 more than the first.  The third is 6 more than the first.  Find the numbers.

3. Donny, Dan, and Matt stopped at Cheesy Cheeseburger after class.  Donny bought two cheeseburgers, one large drink, and two orders of fries for $3.95.  Dan bought three cheeseburgers and two large drinks for $4.05.  Matt bought one cheeseburger, one large drink, and one order of fries for $2.47.  What is the price of each cheeseburger, large drink, and order of fries?

4. The sum of three numbers is 26.  Twice the first minus the second is 2 less than the third.  The third is the second minus three times the first.  Find the numbers.

5. In triangle ABC, the measure of angle B is 2( more than three times the measure of angle A.  The measure of angle C is 8( more than the measure of angle A.  Find the angle measures.

6. Jasper picked strawberries on three days.  He picked a total of 87 quarts.  On Tuesday he picked 15 quarts more than on Monday.  On Wednesday he picked 3 quarts fewer than on Tuesday.  How many quarts did he pick each day?

